
.094
2.39

.780
19.81

BEAM EXIT

 5.200
132.08

 

 1.600
40.64

 

 1.125
28.58

 

 .563
14.29

 

 5.363
136.22

 
 6.144

156.06
 

CL

4X 8-32 UNC ACCESSORY MOUNTING 
HOLES.  SCREWS SHOULD NOT EXTEND 
MORE THAN .19 INTO FACE PLATE3

REPLACEABLE
OUTPUT WINDOW

23.242
590.3.300

7.6

22.162
562.91

 1/4-20 UNC 

 1/4-20 UNC 
 1/4-20 UNC .438 

 M6 X 1 ISO 11mm 

 M6 X 1 ISO 

 M6 X 1 ISO 

 4.300
109.22

 

 .925
23.50

 

 1.800
45.72

 

 20.075
509.91

 

 20.000
508.00

 

 1.363
34.62

 
 20.037

508.94
 

B
CL

2

2

2

LASE (RED)

SHT (BLUE)

READY (YEL)

TEMP (GREEN)

INT (GREEN)

CONTROL I/O

1/4" AIR PURGE
FITTING

2X 1/2" NYLON
TUBE FITTING2X M6 X 1.0

POWER TERMINALS

.199
5.05

.150[3.81]

 .197
5.00

 

2X DETAIL B
ALIGNMENT SLOT

(MILLIMETERS IN BRACKETS)

NOTES:

1.       FOR FULL DETAIL, SEE THE USER GUIDE/MANUAL SUPPLIED WITH THE UNIT.

HARDENED BALL MOUNTING POINT, 3X ( .250 BALL BEARING).

BEAM PATH MAY NOT BE CENTERED OR PERPENDICULAR TO FACE PLATE APERTURE.3

2

R5

R5

R5

R5

R5
R5

DESCRIPTION:

FINISH:

MATERIAL:

REV ECO DATE DESCRIPTION DB

TOLERANCES UNLESS NOTED:

.5     ANGLE = ±.1  .x = ±
.01 .xx = ±
.005.xxx = ±

.

PROPRIETARY
THIS DRAWING IS PROPRIETARY TO

SYNRAD INC. AND SHALL NOT BE
USED OR DISCLOSED IN WHOLE
OR IN PART WITHOUT WRITTEN
PERMISSION OF SYNRAD INC.

PART NUMBER: DWG/FILE NUMBER:

SHEET ENG: DRAWN BY: DATE:

UNITS: CATEGORY: CHECKED BY: DATE:

SIZE:   B FINISH CLASS: APPROVED BY: DATE:

SYNRAD INC.
4600 Campus Place
Mukilteo, WA 98275
Phone: (425)349-3500
Fax: (425)349-3667

OUTLINE & MOUNTING, P100

12-Jul-11
300-20365-01

1
.
.

.

300-20365-01
of 2

.
D. DUVALL

Inches

.

RS

.

DMDADD NOTE AND SCREW DEPTH9-Feb-12.R4
UPDATE TO SHOW CHANGES TO ASSEMBLYR5 DMD17-Apr-12.

UPDATE NOTESR3 DMD21-Nov-11.



 .250
6.35

 
 .094

2.39
 

 6.394
162.41

 

 M6 X 1 ISO 

 M6 X 1 ISO 

 M6 X 1 ISO 

 1/4-20 UNC 

 1/4-20 UNC 

 1/4-20 UNC 

 5.000
127.00

  6.000
152.40

  6.700
170.18

 

 1.363
34.62

 

2X .266
6.76

 20.899
530.83

 

 .550
13.97

 
 20.75

527.02
 

.266
6.76

2

2

2

2X PIN GUIDE
(5mm)

 5.613
142.57

 

WITH OPTIONAL MOUNTING FEET ATTACHED

R5
R5

DESCRIPTION:

FINISH:

MATERIAL:

REV ECO DATE DESCRIPTION DB

TOLERANCES UNLESS NOTED:

.5    ANGLE = ±.1  .x = ±
.01 .xx = ±
.005.xxx = ±

.

PROPRIETARY
THIS DRAWING IS PROPRIETARY TO

SYNRAD INC. AND SHALL NOT BE
USED OR DISCLOSED IN WHOLE
OR IN PART WITHOUT WRITTEN
PERMISSION OF SYNRAD INC.

PART NUMBER: DWG/FILE NUMBER:

SHEET ENG: DRAWN BY: DATE:

UNITS: CATEGORY: CHECKED BY: DATE:

SIZE:   B FINISH CLASS: APPROVED BY: DATE:

SYNRAD INC.
4600 Campus Place
Mukilteo, WA 98275
Phone: (425)349-3500
Fax: (425)349-3667

OUTLINE & MOUNTING, P100

12-Jul-11
300-20365-01

2
.
.

.

300-20365-01
of 2

.
D. DUVALL

Inches

.

RS

.

DMDADD NOTE AND SCREW DEPTH9-Feb-12.R4
UPDATE TO SHOW CHANGES TO ASSEMBLYR5 DMD17-Apr-12.

UPDATE NOTESR3 DMD21-Nov-11.


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Detail View B (2 : 2.5)

	Sheet2
	Drawing View7
	Drawing View8
	Drawing View9


